[0 00000 Jreizokol-qa070131.tex

gooboboboboogobaon

guobougubbodboooboobobooduooooboouobooboboan

Oo0o0oO0ooOo0oOoO00O0O0OO000O0OO00OO (D0o0oooo)boooooo
ggogdgooo

Ooo]

gbobbuogboooobboouobbuodooobobbooooboooobbbo
000000000000 O0000000oOo00oOoOoD0ooooo(ooooood

0000000000000 000000)00001000000000000000O0O
gbbogobbboooobuobboogo

.00 (000000000000 @, 0000 (0000000000000 Q.,00
oooooooboobowbobboooobooboogd

00 = (—Qi+Qx)+W (1)

0= Q=;—W (W>000000). (2)
MoOoo0o00oo00o000o0o0Oooooaoa

0@ = Q2+ W (3)

DQl > QZ. (4)

O00o00000ooo0ooo(oo)ooooooooooao
2.0000000000¢0

j%+fflm 0 00000000000 0000 MOoDoon) (5)
2 1
Q> Q1
- 2= 0 = 6
T 7 (6)

000000000 (= @/)0000000000000000000000
(Q,/T,)000000ooool)




